Geometry (A)
Final Review Packet

Unit 5 - Right Triangles

For questions #1-4, determine if the triangle is acute, right, or obtuse.
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For #5-10, find the missing side or sides of the triangle. Leave your answer in simplest

radical form.
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Find the indicated angle to the nearest degree.
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sine, cosne, fangent

T
Find the missing side. Round to the nearest tenth. (Sec 7.5-7.6)
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Solve the triangle and find the area of each triangle below. (Sec 7.7)
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21)Ladder A ladder is leaning against a house. The ladder is 13 feet long and the foot of
the ladder is 5 feet away from the base of the house. How far up the side of the house

does the ladder reach? ' (Sec 7.1)
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Decide if the segment lengths form a triangle. If so, would the triangle be acute,
right, or obtuse. (Sec 7.2)
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25)Tree height A biologist is standing 50 feet from the base of a large oak tree. The
biologist measures the angle of elevation of the tree to be 57°. Find the height h of

the oak tree to the nearest foot. (Sec 7.5-7.6)
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Find the value of each variable. Write your answers in simplest radical form. (Sec 7.4)
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28)You need to determine the area of a garden which is in the shape of a right triangle.
The hypotenuse measures 25 feet and one of the acute angles measures 36°. Round
your answer to the nearest tenth. (Sec 7.5-7.6)
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Unit 5.5 - Congruence Transformations

29) Given point A is located at (1, 3), what is the final image of A after this series of
transformations?
(1) Reflect A across the y-axis (x¥)a (% ¥ )
(2) Translate the image such that (x ,y) > (x -4,y +2)

(Xy) > (-x,v) > (x-4,Y+2)

(1h,3) > (~1,3) —>

30)6raph ALMN with vertices L(3,-1), M(1, -5), and N(4, -3).

a. What are the coordinates of L', M, and N' after a counterclockwise rotation of 180
degrees? LBA) |\ (3)

W (xy) > (-%,-Y) M(L-6) = [M' (-1,5)
N(a3) 2N (43)

b. Take the image from part a and perform the translation (x,y) —=(x - 3,y - 4). What

are the coordinates of L", M" and N"?

Ohy) = (%3,¥-4) ’::
' 1} :
[§ (’%,‘) - (_"6"5)\— N‘S:
M (-1,5) {4, 1) m" N/
2
L h J]l"ldlllhk!tillijlln.
N'(-4.3) 5| (11N 0 .a‘tiﬁ'/-d 2| L1121 4161810
L ; 2}
41
.6:
8f
ok

31) What transformation will map the darker figure onto the lighter figure? Give the

proper notation. e RS RS
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32)The point A(4, 3) is rotated 90 degrees counterclockwise about the origin. What are
the coordinates of the image?

AH.a)alA‘(-a.q),

33)Identify the coordinates of (10, -20) after a 270° counter-clockwise rotation about
the origin. (x.¥)= (y-x)

(\0,-20) >} (-20,-10) l

34)Given that point B is located at (1,2), where does the image of point B end up after the
following transformations?
First a transformation using the rule (x,y) 2> (x + 2, y - 4) followed immediately by a
reflection over the liney = x. [2]
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_ 10} »
reflection over the line y = x: B" (‘2|52 - L Lgl ]
I "
B4 £
(3,-2)2 (-2,3) | AP NI
R I 3 S AU RE AL
2t
f/ | ’Bl
// -4_
/ '8_
I
/ Pr
4 L _1[]\;

Unit 6 - Polygons
5 (n2)180 —n
Find the sum of the measures of the interior angles of the indicated convex polygon.
(#35-45 Sec 8.1)
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Sum ol mity oy = (n-2)1%0

(5-2)-18%0

- (3)-180
Tox +3)  (9x-3) z 540°

39)In the figure at the right,
a.) What is the value of x?
(Section 8.1)

U3x -19: 540

43X =559 2 Ix:n l

b.) Find the sum of the measures of
the exterior angles, one at each

vertex. B X erioY ansm sum -m‘ 360° ’

40)Find the values of x andy. Total exterior measure = 360"

G455 +0+51+ X33 4+ X= 360 y+19:180  (uwcar Paw)
2X+ 208 =360 ‘ y:= 10| I
2X=q2

AY é-l—.‘iﬁ:"q"
Find the measure of each exterior angle in the following regular polygon. 34°
n

41) Quadrilateral hz4 42)Octagonn =&

300 360 o' 300 360 o'
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Find the value of n for each regular n-gon described.
Ink= (n-2)180
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Find the values of each variable in the parallelogram. (#46-49 Sec 8.2)
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49) The sides of ZMNPQ are r'epr'esem‘ed by ‘rhe expressions below. Sketch ZMNPQ and
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For what value of x is the quadrilateral a parallelogram? (Sec 8.3)
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For the kites below, please solve find the value of x. (#52-55 Sec 8.5)
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55) Given the kite shown below, find:

a.) mZR 30’ S
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b.) mss__|a%°
hmos_id R 4x + 30)° T
c) mZT__40° Mo AXHATHATH30 = 360
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The diagonals of rhombus ABCD intersect at E. Given that mZBAC = 50°, AD = 13,
and DE = 10, find the indicated measure. (Sec 8.4)
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62) Use the diagram of the parallelogram MNOP at the right to complete each statement.

Explain. __ — (Sec 8.2)
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63)Find the length of the midsegment of the trapezoid. (Sec 8.5)
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Points P, Q, R, and S are the vertices of a quadrilateral. Give the most specific
name for PQRS. Justify your answer using distance formula, slope formula, midpoint

formula. (Sec 8.6)
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65)Find the length of the midsegment of
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66) Find UV (Sec 8.5)
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Find the measurement of the angle indicated for each trapezoid. (Sec 8.5)
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71) If rectangle JKLM has MK =4y —5,JL =2y +5,KL=x+5,and JM = 3x - 5. Find MK

and KL. 28
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Unit 7 - Circles (#72-79 Sec 10.1)

72) Identify each in the diagram.
a. Radius Tp oy o

b. Center Cor G
«>
c. Tangent AE
d. Chord RB
Common Tangent W
f. Diameter DB

g. Secant "Ep?

o

73) Tell how many common tangents the circles have and draw them.
a. ‘%7:7 b. ;; c.
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] 9 9
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Determine if line AB is tangent to the circle.
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Solve for x. Assume that lines which appear tangent are tangent.
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Find the value(s) of the variable. Points B and D are points of tangency.
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Determine whether the given arcs are congruent. Explain why or why not. (Sec 10.2)
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Find the value of the variables.
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100° 2m= 3 (194+100)
F |
. Zm: 3 (1Y)
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Find the value of x.
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87° L
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A
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~Y: -y

)

3n: 3 (14452)
3= 3 (o)
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out = 2 (big arc-¢m arc)
88) ,  (#87-88 Sec 10.5)

il AN

—3g 3873 (x4 -
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= 1 (ox 4 -x-¢)

A
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3= aAx%-b
44 ax
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91)
15 OusWe-whole = owttide- whote
(S)0S) =12 (12+x)
216 = WY +1ax

gl=1ax

i X:015 ‘
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Find the measure of the arc or central angle indicated. Assume that lines which

appear to be diameters are actual diameters. (Sec 10.2)

92) msDAF 93) msGCH
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Find the measure of the arc or angle indicated. Assume that lines which appear to

be tangent are tangent. out: % (wgm_sw\ arc) (#94-101 Sec 10.5)
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\ \
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102) Suppose a space shuttle is orbiting about 180 miles above Earth. What is the
distance d from the shuttle to the horizon? The radius of Earth is about 4000 miles.

Round your answer to the nearest fenth. A (Sec 10.1)
- d

a’th%¢t
S

449000 180" ~ d=1213.4 mies ‘

d + 16000000 = 114712400
d*= 1472400
d: (2134



Use the given information to write the standard equation of the circle.

(#103-111 Sec 10.7)

¥ Y Xz Y2
103) The center is (-3,2) and a point on the circle is (5, 2). hie

Y
fﬂdNSﬂ](s*a)’» oy = {00 = {64 =¢ center (3,2) radws =8
(%--3)"+ (y-2)*- 8*
i % ¥, (x+3)*+ (Y-2) = b4 ]
104) The center is (6,-1) and a point on the circle is (-1, 6). '
vadws = Je-6)2o--* < JEDA(0F = Jua+dg - Ja3 cenker (6,-1) radwis= {98
(x-0)*+(y-—1)" = {ag*
(x46)*+ (yu)":CIXJ
105) Do the following points fall on the circle with equation (x —2)? 4+ (y — 6)* = 257
a (2,6) (1-2)'+(e-6)" > (©*+(0)* 5 NO O+ 25
b. (5,10) (5-2)*+(w-8)"> (3)*+(4)*> q+le = Yes 2626
¢ (42) (4)%(20)" 3 (224(4)*9 w+lb 9 NoO 20 $26
d (69 ((2'e@4)* 9 @*(3)*2 161 3 Ves, 25226
Identify the center and radius of each circle. Then sketch the graph.

106) (x+3)?+@x-1?%=1 107) x>+ (y+4)?*=4
enter (-3,1)  rodwg: | Center (04)  radws =4
t r:\ =1
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! - 4444 _— - :.f- N VS W W - —
—-1— - . ——
e
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—_ L-—-]»-“--.:{ — —4 <4 5 m -4
T
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|6T3=l5.|£+f

Use the information provided to write the equation of each circle.

h K
108) Center: (11,—13)
Radius: 4

(X2 (y--13) =4

((x—n)ﬁ (YH3)% W J

110)

(enter: (-4,-1)
1 tadws=3

(R--4)"ay--u) % 3%

| (x+4)2+(y+q)zi)

h K
109) Center: (11,9)

Radius: 3
(x-1)24(y-9)%=3"

e —

x-1D+1y-4)%- g

111)

111)

= _' T 3 X (.an (0._‘*)
rads =

(x-0)% (y--4) = 12
\ X (y+4)7=) ]

Find the length of arc DE and find the areas of the sectors formed by ZDFE.

Round answers to the nearest tenth.

112) G D

e

X _-5—‘;) Sector: _X . %Y
() 3 ARl  w(k)* 360
X .54 X 5y
0T 360 2T 30

30 4= @)(32m)
KOA= 5416.92
A=16.011

30X = (59)(25¢w)
360A= 4340 1.30

(#112-113 Sec 11.4-11.5)

113) D

160°

E

Mrctenghh: X . W0 oy x| o
2003) 30 Area © B T 360

A WO X, WO
%n 260 wia 260
300 %=(160) (26¥) 260 X = (160 ) (AT
20 A= 13062.4 3604 =€44905.b
X= 3b.lg

=236 %

VanY
DE = 3b.5um

\—A_rm: 1398 an? f




Unit 8 - Surface Area and Volume (#114-116 Sec 12.4)

114)  Nicole is buying an aquarium in the shape of a rectangular prism and
measures 3.5 feet by 4 feet by 4 feet. What is the volume of the aquarium?

Base
-
[A] 11.5 ft* [B] 28 ft} [C] 48 ft® 56 ft* Ll 4
4

V:=bh
= ()35) =504 ) <16
115)  The volume of the pyramid below is h:3.6
V: l?; bh G ft
A 3 )
[A]) 126 ft 1 (a)6)
B 3
(B] 195 ft Ve o 3
[C 226 f*
7t

(D] 378 f* g ft

Mu.‘ ’1

q
B (a)(7) =63
W:=6

116) A machinist drilled a conical hole into a cube of metal as shown. If the cube
has sides of length 8 cm, what is the volume of the metal after the hole is

drilled? Use x% 3.14 and round to the nearest tenth. =4
Q@:«wsmm3 DIEE: Cube- (NG ';'::':‘:"”’””".
[B] 333.4cm® " 512-14% A g
=318.0 om? P
[C] 3512 cm® "Y-!/
' 3
[D] 3935 cm® 3
(one:N= % avh Cube: N =Bh BaR -
-(W)(8) _____]
=1 2 3
L reF() =) L _
= Ly ()8) g
(" 3 ‘H‘(ﬁ 3 P)_-(S)(g)z 64



117) Please find the surface area of the figure below. (Sec 12.2)

4647.2 cm? cm . ’Lnr’+ﬂ2nr\n’
B) 2960 cm’ !@ * 20(20) + 2m (20)(11)
C) 2323.6cm? 220 (400)+ 2 (20)(11)
D) 1480 cm’ © 2511 % 2136.2
= 4647 2em?*
»v={1
118) Please find the surface area of a globe with a 24-inch diameter. (Sec 12.6)
SA= v
808.64 in’ B) 7234.56 in’ C) 904.32 in’ D) 3627.28in” - 4rli)*
SLIGE
=508, 1n”

119) A grain storage tank is called a silo. A silo is the shape of a cylinder covered
by a half-sphere as shown. The height of the cylinder is 50 feet and its
diameter is 80 ft. Please find the surface area of the silo. (Sec 12.2/12.6)

Cyhnder : SA= Tr2a2mrh Cphere: SA=Ymr?
= n(4o) s 2o fo0) =y (4o Tola) = 200946 +1758Y
= (1600) + 207 (401(50)

50 ft = 41 (1600) \ < 3].030;*’— I
= 6024 + {2660 CA = 20066 !

80 ft Y=40 SA = 158y H*

120) The base of the pyramid below is a non-regular heptagon with an area of
30.0 square yards. The height of the pyramid is 6.6 yards. Find the volume of

the pyramid. N (Sec 12.5)
V:bh 66y
= (30)(6.b)

\v:mszqd&]

Base area — 30 yd?

8-30
121)  Find the volume of the figure to the nearest tenth. (Sec 12.4/12.5)

@ne: V= 3 mth Cybinder . V=11 2h
*La3)) W) /g
Lat 1) = w@)y)
= 6694 NS 5

e1a) <0694 +1413 sizﬂ-lmm* }



122) Find the volume, to the nearest cubic foot, of a sphere whose surface area

is 100 f*. Ve 51"3 (Sec 12.6)
SA=Ymr* P i
S
100=12.56Y> _ =3T3
146> 3(r= 29D V- Qb |
Find the surface area of the prisms below! (#123-124 Sec 12.2)
123) - 124)
| A
I 7m )/ " h )
| S omn % 10cm |
| 4
. 7 T 12 em
?)(:SC- 7 e
Q[—’b 5m pase " SA=29*W\
- SA=20+Ph B A ghpty = 2(30)+ 30(10)
= 2(30)+22(1) E :> :X* B
B=(5)(6) ( . N “’1 N - 004 200
B> ELAAA z
(8:30) - B: $(12)6) Shr =360 (M”
PGk 5tk SA=2\% m oy p=5_+_|._.1+|6
(Mi ) (0307 p.30)

N
125) A sphere fits snugly inside a right cylinder as shown below. Find the volume
lying outside the sphere but inside the cylinder to the nearest tenth of a cubic

inch. (Sec 12.4/12.6)
Cyhnder: VeTrr*h Sphere: = 3¢
=(1)*(5) - 3 Is 2. A
( %“ (\) i A
= ‘“’(Q) ) g_ ’i :-' ‘I 11 5
2 6] 31 SR "
= q?— ; ‘o -:...'
{ T
¥=| ¥ =\

Dibference: Cy\indey -Sphiere
= b-4.1

i 2 6w’ ’



